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For Exercises 3-6, use the table below. » ' ® 4
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3. Make a scatter plot of the data. 2 [ ) (p %r ‘}, /),‘Ad _t . L’
4. One student used the equation y = 17x — 5 to model the data. @ { m (/“ : “ S l/l : J 5

Another student used the equation y = 11x + 5. Graph both lines

T Sample answer: The residuals . 9
on your scatter plot. (L2 — L3) for each model are Se en ' ‘ q 7

5. Compute the residuals for each value of x for both models, shown in L8,

6. Find the residual sum of squares for each model. Which is the hd -
better model for the data according to the least-squares criterion? iz 3 1 0 % 2 ; Wd )\(

For Exercises 7-8, do the following. Ell 1:‘ | 'h.‘.r' N
a. Make a scatter plot of the data. i T b “{Q b{ T
b. Draw a line that you think best models the pattern in the data. & N e [ a MJ{ ,
¢. Find an equation for the line. =95
d

. Make a residual plot for your model. }‘ )
e. Use y }Ul‘-k‘ﬁidlmt plot to decide whether the model is a good “ 5 a‘ va(m
one for the data. : : :r_. - 5 I
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8b. Sample answer:

0 10 20 30 40 50 60 x \{V\.U/M’Qi(y/\ksk’
8c. Sample answer: y = 1.2x — 22 K

8d. Sample residual plot:

[15, 50] x[-10, 10]

8e. Although the residuals are small,
they appear to have a repeating
pattern, so the model may not be
a good one.

7.3 Page 2

[0,4] x[-10,10]
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